Chapter 8. Simultaneous Linear Equations

Ex 8.1

Answer 1A.

The given equations are

x4y =18 sl

Sv=3+4dx 00

Mow, consider equation 2x+ v =8
=y =8-2x ,..[ii

Substituting the value of v in egn. (i), we get
B-2x)=3+ 49x

=24 -6x =35+ 4x

= —0x - dx = 3-24

= =100 = 21
> x=2
10

Putting the value of x in egn. (iii), we get

?=8‘EG%J=B‘21=40_21=12

5 ] S

. (21 19
Thus, the solution set is | ==, = |,
Lis, 2 SOLCON ST 15 {j_l:l" SJ

Answer 1B.

The given equations are

w4+ 3v="5 ol ]

Tx—-8y=6 ..

Mow, consider equation x+ 3y =5
= x=5-3y .0

substituting the value of = in egn. (i), we get
5-3w)1-8y =6
=35-21y -8y =6

= 35-29y =56
= 29y = =29
4=l

Putting the value of v in egn. (iii), we get
s Begud
Thus, the solution setis (2, 1).



Answer 1C.

The given equations are

Sx+dy - 23=10 oL
x+9=06y .00

Mow, consider equation x + 9= By
= x=06y-9 .. .0ii

Substituting the value of xin egn. (i), we get
S(Ey -Q)+ 4y -23=0
= 30y - 45+ dy - 23 =0
= 3dy - 62 = 0
= 3dy = 63
atas

iy=ﬁ=2

Putting the wvalue of v in egn. (iii), we get
Xx=62)-9=12-9=3
Thus, the solution setis (3, 2).

Answer 1D.

The given equations are

2%+ 3y =31 Gl

Sx—-4=3y ..M

Mow, consider equation 2x + 3v =31
= 2% =31-3v

., _31-3y

L)
substituting the value of x in egn. (i), we get
5[31— 3%,#}_ By

2

1S5 15y, g,
155- 15y - 8
= - 3y
= 147 - 15y = 6y
= 21y = 147
147
ST
21
Putting the value of v in egn. (iii), we get
_31-37) _31-21 10
2 2 2
Thus, the solution setis (5, 7).

=y =

x




Answer 1E.

The given equaticns are

Fw—3y =731 sevsfi)

x-Sy =41 ... (i)

Mow, consider equation 7x - 3v = 31
= x=301+3y

=x=2H i)

Substituting the value of x in egn. (ii), we get
9[31 ; 3"*"} ~ Sy =41

LU0y o 4

7
- 279+ 2;‘*;— 35y _—
= 279-8y = 287
e R SR
=y=-1

FPutting the wvalue of v in egn. (iii), we get
oo SleFty B1-3 28

7 7 7
Thus, the solution setis (4, - 1).

s

Answer 1F.

The given equations are
134+ 2y = 9x skl
3y =7x LD
Mow, consider equation 3y = 7x
P
::»y=§>c: LD
Substituting the value of v in eqgn. (i), we get

15+ E[E}{] = Sy
3

:»13+1—;x=9::<

14

=9 - __—x=13
3
:,M=13
3
= 150w =39
39
o Yy e
S

Putting the value of x in egn. (i), we get
y=%x3=?

Thus, the solution setis (3, 7).



Answer 1G.

The given equations are

0.5x+ 0.7y =074 (i

032+ 0.5 =05 .0

Mow, consider equation 0.5x+ 0.7y = 0.74
=0.5x=074-0.7y
_ O.?%TSD.?V a0l
Substituting the value of x in egn. (i), we get

[33(%] +0.5y =05

= x

05

0228 Dlogsy an
0.5

., 0.222-021y+0.25_ .

0.5
= 0,222 + 0.04y = 0,25
= 0.04dy = 0.028
SIS, B T

0.04 40 10

0.5 0.5 05 50 2
Thus, the sclution setis (0.5 0.7).

Answer 1H.

The given equations are

04x+0.3y = 1.7 D)
07x-02¢y =08 ...Gi)
Multiplying both the equations by 10, we get
A% + 3y = 17 I 1)
Tu—2y =8 N AT
Mow, consider equation dx + 3y = 17
= dx =17 - 3y
:}x:1?—3y )
Il

Substituting the value of x in egn. (iv]), we get
?[1? —ByJ_ >y -8
4

- 119421%;_25?{= 2
e
4

=119- 20y = 32
= -20y = 32- 119
= —2Qy = 87
-87

L
¥

Putting the value of v in egn. (v), we get
17 -3 17-9 8
= = ===z
* 4 4 4
Thus, the solution setis (2, 3).




Answer 11.

The given equations are
J-(x+51=yw+2 (i)
Ax+yl=10+2v {00

Consider 3-(x+5)=y+2

G S G S T S

=KL =4S

= x+y=-—4

= x=—d-y (11N

Mow, consider equation 2 x+v)=10+ 2y
= 2u+ 2y = 104+ 2y

= 2x =10

= o)

Substituting the value of x in eqn. (i), we get
S=-gd-y

=y=-4-5=-9

Thus, the solution setis (5, - 9).

Answer 1].
The given equaticns are
iy +3)-Ax+2)=14 sk ]

Ay -21+3Ax-3=2 ...[i)
Consider 7y +3)-2(x+ 2)= 14
=7y+21-2x-4=14

= i i R Y
= 5=y =3
— R
=?”“2+3 N

Mow, consider equation v -21+ 3(x-3)1=2
=y -E+3x-9=2

= Jx+dy =19

£ 3[7"‘“5 3] pdy =19 ..[From (i)]

= X

. 21y + 9+ By _
2

— 20y + 9 =38

= 29y = 29

i

Substituting value of v in egn. (i), we get
71+3 10

Ak —5 =5 = 5

Thus, the solution setis (5, 1).

19



Answer 2.

(i) 6x43y=7xy
3X4+9y=11xy
Dividing both sides of each equation by xy, we get,

SN (1)

i x

54_9::11””,”(2j

Voo
Multiplying (2) by 2,

E+E:22 ,,,,,,,,,, (3]

Vooox
Subtractng (1) from (3], we get,
B g
s
=x=1
2 ey

Y
=;-§ =11-9=2

Y

5

Thus, the solution set is[l, g]

(i) 8v-3u=5uw
bv-Su=-2uv
Dividing both sides of each equation by uv, we get,

g 3

TR e
5 _2_ 5 ... (2)
Ll W

24 9 45 (3)
Il W

a2 nifd)
(] W

Subtracting (4) from (3), we get,

H=23
Y
=H.f=£
23
B 5
..G—HKEB——E
& 115



B oy 115, “PPNIIE, 93

U 1 T 1
I, 8o
o3 31
. (22 11
Thus, the solut o edaa
LJSI. 2 SOLTIon s lS[ii’EBJ

(i) 3(2u+v) =7uv
{u+3v)=11uv

Dividing by uv, we get,

& 3

sk B O
e (1)
U+ 3 =11uy
49y = 11uw

Dividing by uv, we get

§+§:11 ,,,,,,,,, (2]
W Ll

Multiplying {1} by 3, we get,

105 s B

i Ll

Subtracting (2) from(3), we get,

15:10
W
¢U_15_3

10 2
g§=?_6x3=?_4=3
Ll
== L =

Thus, the solution set iS[l, g]
(iv) 2{3u-v)}=5Suv

2{u+3v) =5uv

2{3u-v) =5uv

= Bl — 2y = Suv

=.5;—G=5 -------- (1)

2(u+3v) =5uv
= 2L 4 By = Sl

S D s )
Ll W

Multiplying equation (1) by 3, we get,



1z &
— — — T 15 ......... 3
Voo &

Adding (2) and(3),

Thus, the soluton setis(2 1),

Answer 3A.

The given eguations are

13a-11b=70  ...(0)

11a-1% =74 ...

Multiplying egn. (i) by 13 and egn. (il by 11, we get
169a- 147 = 910 ....{ii)

121a- 143 = 814 .. .(iv)

Subtracting egn. (iv) from eq. (iii], we get
48a =96

=a=2

Substituting the value of ain egn. (i), we get
13(2)-11b = 70

=26-11b=70

=-11h=70-26

=-11h = 44

=h=-4

Thus, the solution setis (2, - 4.

Answer 3B.

The given eguations are

41x + 53y = 135 sk

S3x+ 41y = 147 . (i)

Multiplving egn. (i) by 53 and eqgn. (ii) by 41, we get
2173x + 2809y = 7155 ., .(iii]

2173x + 1681y = 6027 ...(iv)

Subtracting eqn. (iv) from eq. (i), we get
1128y = 1128

= =1

Substituting the value of v in egn. (i), we get
41x+ 53(1)= 135

— B S

= 41x =135-53

= dix =22

=5 SEHE

Thus, the solution setis (2, 1),



Answer 3C.

The given equaticns are

E5x- 33y =07 .0

33x - 65y = 1 (b

Multiplyving egn. (i) by 33 and egn. (i) by &5, we get
2145x% - 1089y = 3201 ....(iii)

2145x - 4225y =65 ....(iv)

Subtracting eqgn. (iv) from eq. (iii), we get
FEIB = A6

=y =1

Substituting the value of v in egn. (ii), we get
33— 651)=1

—AmreBae 1

=33x=1+65

= 35x = Bb

=X =2

Thus, the soluticn setis (2, 1)

Answer 3D.

The given equations are

103a+5ib =617  ...0)
97a+ 4% =583 .00
shtracting eqn. {ii) from (i), we get
Ga+ b =34

= 3a+b =17 [Dividing throughout by 2] .. ..{ii)
2005 + 100b = 1200

=2a+b =12 [Dividing throughout by 100] ... (i)
Subtracting egn. (iv) from egn. (iii), we get

a=>5

Substituting the value of a in egn. (iii), we get

3(S)+b =17
= 15+h =17
=h=2

Thus, the soluticn setis (5, 2).



Answer 4A.

%x—%y+1=0

= Ox - 10y +15=0

= Ox- 10y = -15  ...(D)

%y + %:{ =4

= 5y + Bx = b0

= 6x+ 5y =60 .00
Multiplying egn. (i) by 2, we get
12% + 10y = 120 ....(ii)

Adding egqns. (i) and (iii ), we get
21x = 105

=5 G

substituting the value of x in egn. (i), we get
6(5)+ Sy = 60

= 30+ Sy =60

= Sy = 30

=y =0

Thus, the solution setis (5,6).

Answer 4B.

= At 3y =132 ()
L I
6 3

= Bx -2y =-42 (D!

Multiplving egn. (i) by 2 and eqgn. (ii) by 3, we get
S+ By =264 ..l

15x -6y =-126 ... [iv)

Adding eqgns. (iii) and (iv), we get

23x =138

=x =056

Substituting the value of x in egn. (i), we get
461+ 3y =132

=24+ 3y = 132

= 3y = 108

=y = 36

Thus, the sclution setis (6,36).



Answer 4C.

The given equaticns are i+— =5 and

2 5
I G Y, X

Let l=aar‘|dl=b
B Y

Then, we have

3

<
§a+ §b=5

=92+ 4db =30 .0
And, Ba-3b =1 ...0D)
Multiplving egn. (i) by 3 and egn. {ii) by 4, we get
D7a+12b =90 ...
20a-12b=4  ..(v)
Adding egns. (iii ) and (iv), we get
47a=94
Sa=2
T
%
=x=2
=
Substituting the value of a (i), we get
U 2Y+ 4b = 30
=128+ 4b =30
= db = 12
=b=3
ko
¥
1
== g

Thus, the solution set is [1, EJ
2" 3



Answer 4D.

The given equations are B -9 and £ + = ;
E Koy
Letl=aar‘|dl=b

X Y
Then, we have
Sa-b=-9 .00
2a+3b=5 ..}
Multiplying egn. (i) by 3, we get
Qa-3b=-27 .. ..0ii)
Adding eqgns. (i) and (i ), we get

lia=-22
== =2
=15
%
= %=t
2
Substituting the value of ain egn. (i), we get
3(-2)-b=-9
=-6-b=-9
=b=-6+9
=h=3
sl
Y
1
=y =
Y 3

Thus, the solution set is {—l, EJ
2 3



Answer 4E.

The given equations are

R G B

-x+y =08 ikl
i

"X+ )

= 153=2x+2y

= 2x+ 2y =13 -l

Multiplving egn. (i) by 2, we get

2%+ 2y =16 covilive)

Adding egns. (i) and (iii ), we get

4y = 14.6

=y =3.65

substituting the value of v in egn. (i), we get

%+ 3.65=028

= -x=-2.85

= x =285

Thus, the solution set is (2.85, 3.65),

And 1

Answer 4F.

The given equations are E+§=3 and iL+E= E
O S XN ey

Letl=aar'|di=b
X ¥
Then, we have
2a+ 3b =9ab wiasfiy
da+9b=21ab ...[0i)
Multiplving egn. (i) by 2, we get
daseb=18ab  ..Gii)
Subtracting egn. (i) from egn. {ii], we get
3b = 3ab

=a=1
cpion |
4

= x=1



Substituting the value of ain (i), we get

211+ =91b

=2+ =%

=6b=2

$b=l

3

-1 1
PG

= VS

Thus, the solution setis (1, 3).

Answer 4G.

s

=2
H
=X+ =20y L)
X=V _g
Hf
= x-v=06xy .0
Adding egns. (i) and (i), we get
2 o= By
Lyl
A
Substituting the value of v in egn. (i), we get
>-<+l=2:=<3<l
4
de+ 1l x
~~4 "3
= 8x+ 2= 4x
=y = -2
= x =
2

Thus, the solution setis [—l, EJ
2 4



Answer 4H.

The given equaticns are - and

1
w4l oy=1 2 X+

—

1 1
><+1=.5|.5|r‘||::1m=|::u

Then, we have

1 .
& ]
>0
2

5 i)
Multiplving egn. (i) by 2, we get
da-2b =1 ...Gi)
Adding egns (i) and (iii ), we get
s
2

—=a=

Let

2a-b=

g+ =h =

La=

7

10

=
x+1 10

= 10=7x+7

e Sl

3

g
7

Substituting the value of a in egn. (iii), we get

: . a9
Thus, th lut t —, =
us, the solution setis [1[]’ QJ

l‘\_l_l Ln



Answer 41.

; . 7 1 1

The given equations are = + 3 and = :
X+ Xy Ax+y) 3x-vy)

Let = a and L =bh

X+ y X =y
Then, we have
Ga=7b+3
=6a-7b=3 .00
And, la = ll:.

= 3
= 3a=2b

=6a=4db .. .0}

Substituting the value of Ga in egn. (i), we get
db-7b =3

=-3b=3

=b=-1

Bba=-4

=

3

= a=-

:>><+y=—§ and x -y =-1

Adding both these egns., we get

5
e P
e
-

4

5
= - -y ==

4 Y

5 1

:""y"__E-Fl__E



Answer 4K.

The given eguations are 2 £ 17 2

1

. =a and L
3w+ 2y Sx - 2y

Then, we hawe

D430 = % 0

Let =h

Sa+b=2 0
Multiplving eqgn. (i) by 5 and eqgn. (i) by 2, we get
10a+ 1% =17 ...(ii))

10a+2bh=4 i)

Subtracting egn. (iv) from egn. (iii), we get
1Zb = 13

=iy

Substituting the value of b in egn. (i), we get
Sa+l1=2
= 5ba=1

= a=

£l

=3Sx+2vy=5 and 3x-2v=1

Adding these two equations, we get
B6%:=6

— i

= 1)+ 2y =5

=y =2

=y =1

Thus, the sclution setis (1, 1),

3x+2y+3><—2y=€an 3x+2y+3><—2y



Answer 4L.

Ky =E
X+ 5
X+ 0D
= oy
S &
1 5 :
= —+—=—
y+x = (i
% _g
Vo= %
v=x 1
= g T
A &)
Lo E sl %
= g s ol R
=g el

Adding eqns. (i) and (i), we get

=
x

= x=2
:$l+
¥
1

Y
=
Thus, the solution setis (2, 3),

Answer 5.

Adding (1) and (2),

bx =42

= x =7

N =23-Zx=23-14=9

A X=By=T7-89)=7 - 27 =-20
By —2x =59)-A7)= 45— 14 = 31



Answer 6.

10y = X coeiinns (1)

12%+18y =1 .. (2)

Multiplying (1) by 9 and (2) by 5, we get,
63x— 90y = 36 oon.... (3)

BO0xX+ 90y =5 .cviines (4)

Adding (3) and (4), we get,

125x=41
41 1
= = —— = —
125 3
.I.10y=z_4=ﬂ=__.5
3 3 5
-5 1 -1
:k'l:l.l'z_}(_z_
Iy 6
4 1
A Ey = —1=2
+ 0y 3 3
-z 1 -8-2 =10
B'I:I.l'—}(:_—_: =
B, O 8] 5



Answer 7.

TN C R (1)
Y
65— Bl
4
Multiplving (1) by 4 and (2) by 3, we get,
T ey (3)
Y
T R W, (4)
Y
Adding (3) and (4), we get,
S = 102
=y
34
@]
o=—=15-4dx =15-12=3
Y
&
=T 2
=Y ==

Thus, the solution setis (3 2.
Mo, v = ax — 2

= =38— 2
=o8—4
=;a.5|=—=11

33



Answer 8.

3_2_¢ (1)

oY

2.2_19 (2)

Koo

Multiplying (1) by 5 and (21 by 2, we get,
15 10

o 3
=-2=0__(3)

L I )

Xy

Adding (3) andi(4), we get,

EzBS

: (11
Thus, th It tis|=, =]
us, the sclution se |s[2,3]

Mow, v = ax 43

R =
FETET

La_1l 5 1-9_ -8
277 T
=:-.5|=_—8}{2:_—16:—51



Answer 9.
The given equations are

Ty-3x=7 .0
Sy—11x =87 oL
Swa dy =43 (i)
Multiplving egn. (i1 by 5 and egn. (i) by 7, we get
35y — 15x = 35 o
3oy —FIx =609 | ..(v)
Subtracting egn. (iv) from egn. (v), we get
-62x% = 574
574 287
ez T 31

861 217 -861 644
31 31 31
644 92

e T T

7x31 31

Putting = = —% and v = —% inL.HS. of egn. (iii), we get

287 9z 1435 Ze8 1203
L.H.S.=5x{—§J+4x[——J=— =1 " 31 - 31 = 43

=y =-

= LHES = RRS
Hence, the given system of equations are not consistent.



Answer 10.

The given equations are
Zx+3y+e=0 .00
A -3y-8=0 .. .00
x+my—1=0 . .0ii)
Adding egns. (i) and (i), we get
Bx=2=0
= Ex=2
= %=1
3
Substituting the value of x in egn. (i), we get

2x1+3y+6=0
3

:’3?:—6—_: _—
3 £ 5
20
i
4 9

Substituting the value of x and v in egn. (iii), we get
E+ mx[—§J—1= o
9

3
20 1 =
= I i RO, OO
g 573
2 9 =
= M="3%55""10



Ex 8.2

Answer 1A.

The graph of x = 3is as follows:

F 9 Y
=3
3 X
2
1
X (3,0) X
-3 -2 -1 0 1 B
—F
-2
-3
'"'?.
Answer 1B.
Given equation,y +5=0
ey =-5
The graph is as follows:
Y
3
2
1
X
D S S S S 0 T
i -1
-2
-3
=
yrs s - |(0,-5)
-6




Answer 1C.

Jx+2y-6=0
=S+ 2y =0
= 2y = 6- 3x
6 — 3%
2
Corresponding values of x and v can be tabulated as follows:

|01 1 | -1
T b W o
Plotting the points [0, 3], (1, 1.5) and [-1, 4.5),
we get the fdlowing graph:

=y =

F .
£ 5 dit I A Y
X
b ¥ C
S ".J
(Z1,4.9)
b
4
.y
4 '{'Er“}
el
I
# ] b
- A
[} [ .3 )
b A
\\

A 9
- ‘\‘ [N
= E F

= gl ]
1




Answer 1D.

o B8
= 5x=8-D5y
8- oy

o kil
==

Corresponding values of x and v can be tabulated as follows:
x| 1.6 |06 |26
AR
Flotting the points (1.6, 0, (0.6, 1) and [2.6, - 1],
we get the fdlowing graph:




Answer 2A.

Given, lx+ly= 1
= 3

= 0K+ 2y =6
=2y e b= 3
B — 3%
= =
¥ 2

Corresponding values of x and v can be tabulated as follows:
|0 1 | -1
vi| 3] 15 4B

Flotting the points (0, 3), (1, 1.5) and [-1, 4.5],

wie get the folowing graph:

r 9 Y
x5
b C
_ ‘I.J
(Z14.5)
»
G-
b
; '{'EI"" i
[
e
¥ i
A
i [..3 )
.
i -

K - 4
il \.‘ b
e E F

= gl | y
&
L]

Thus, the graph of the equation meets the X-axis at (2, 0) and Y-axis at (0. 3).



Answer 2B.

Jx+ 14 w-10
Z 5
= 150w+ 70 =2y - 20
= 15x -2y = -90
=2y =90+ 15x

90+ 15x
LA
Corresponding values of x and v can be tabulated as follows:

x| =-5[-2] -1
v Ao | 30355
Plotting the peints (-5, 7.5), (-2, 30] and [-1 37.5],
we get the following graph:

e k-

Thus, the graph of the equation meets the X-axis at (-4, 0) and Y-axis at (0, 45).



Answer 3.

-3+ 12=0
= dx = 3y - 12

3y - 12
T 4
Corresponding values of x and v can be tabulated as follows:
% | =3 |=1i& |0
wo| O = |4
Plotting the points (-3, 0], [-1.5, 2) and [0, 4),
we get the following graph:

=

Jk‘!

6
7
{ﬂ.%/
A
pL
v
{'1-5:y 2
A 1
J'/ AT
s (~3,6) X
— Ry - - % —
" 1
o)
2

Y

Ares ofﬁDAB=%xDB xDﬁx=%x3x4= 6 g units



Answer 4.

Y =5x—-4

Corresponding values of x and v can be tabulated as follows:
| 0O [2]-1
v|-4[6|-9
Plotting the points [0, - 4), (2, 6) and [-1,-9],
we get the following graph:

s}

\

4

N
\\

F 3 x
A
L]
gt
=

[*
-y

[
=

4 Nt
by

r-l.
e
™
jma]

o5
[=e}

~
o)
M

e
|-.|.
H

F 4

*

ok
g

From the graph, we find that

a.Wheny=1x=1
b.Whenx=-2,y=-14



Answer 5.

The graph is as follows:

i

N ,4}/ ¢ | i
/

Ny
\1"']"‘1
xl
2 N L
+ " o J p . 5 < r
b, ¥

A

o+
ey
=
G
n

(=]

YI

From the graph, we find thatp=-1landg=-2.

Answer 6.

The graph is as follows:

JLY

Gn

Wl

N

. D Y
) [
- F
5 A S I 1 1
L= T
4
A % 5
o ol e ) i
i o
“f i
C5/=9Y ", .

From the graph, we findthata=-1and b =-%.



Answer 7.
(i) x+3y=8

In=242vy

x+3y=8 __ (1)

3x=2+2y ___ (2)

Mow, x+3y=8
8—x

=y =

Corresponding values of x and v can be tabulated as:

p =1 2 5

y 3 2 1

Plotting points (-1, 3), (2, 2}, (5, 1) and joining them, we get a line |,
which is the graph of equation (1.

Again, 3x=242y

2 4 2y
=X = ——
3
Corresponding values of x and v can be tabulated as:
X 2 4 0
v 2 5 =4

Plotting points (2, 2}, (4, 5), (0,-1) and joining them, we geta line |;
which is the graph of equation (2).
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Thetwo lines |; and | intersect at the point (2, 2). Hence, x=2,y=2is
the unique solution of the given equation.

(i) 2x+4y=7
IX4+8y=10
2x+4y=7 (1}
3x+8y=10 __ (2)

MNow, 2x+dy=7/
=y =7 — 2



F— 2%
4
Corresponding values of x and v can be tabulated as:

=y =

X 2 3 4

¥ 0.75 0.25 -f¥d5

Plotting points (2, 0.75), (3, 0.25), (4, -0.25) and joining them, we
geta line |; which is the graph of equation (1).

Again, 3x+8y=10
10 -8y

=y =

Corresponding values of x and v can be tabulated as:

X 6 -2 0

y =) 2 1.25

Plotting points (6, 1), (2, 2), (0, 1.25) and joining them, we get a line
|- which is the graph of equation (2).
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The two lines |; and | intersect at the point (4, -0.25), g, [4,_741].

Hence x=4 and y= _Tl,l is the unique solution of the given equations,

(iii) 2x-y=9
ox+2y=27
2x-y=9 _ (1)
OX+2y=27_  (2)
MNow, 2x-y=9



=Y =2x—-39
Corresponding values of x and y can be tabulated as:

X 2z 3 4

y -5 -3 -1

Plotting points (2,-5),(3,-3), (4,-1) and joining them, we get a line |,
whichis the graph of equation (1).

Again, dx+2y=27

27 — 5%
2

Corresponding values of x and v can be tabulated as:

=y =

X 5 4 3

y 1 3.5 6

Plotting points (5, 1), (4, 3.5), (3, 6) and joining them, we get a line |x
which is the graph of equation (2.

4

The two lines |; and |, intersectat a unique point (5, 1).
Thus, x=5 and y=1 is the unigque solution of the given equations.

(iv) x+4y+9=0

3y=5x-1
x+4y=-9 (1)
Jy=5x-1 (2)

Now, x+4y=-9 = x = -9 — 4y



Corresponding values of x and y can be tabulated as:

X 4 =3 -5
y -3 i 3

Plotting points (4,-3), (-1,-2)and (-5,-1) and joining them, we get a
line l; which is the graph of equation ().

B —1

Again, 3y=5x-1 =y =

Corresponding values of x and y can be tabulated as:

X -4 43 5
=7 2 8

y

Plotting points (-4,-7),({-1-2), (5, 8) and joining them we get a line |2
whichis the graph of equation (2).

The two lines |y and |l intersectat a unique point (-1 ,-2). Thus, x=-1
and y=-2is the unique solution of the given equations.

(v) x=4

3 _



The graph of equation (1) will be theline |; whichis at a distance of 4
Units from the y-axis. (4, 0)
From (2), x-y=5

Corresponding values of x and v can be tabulated as:

X 4 0 5

y -1 -5 0

Plotting points (4,-1),(0,-5), (5, 0) and joining them, we get a line |;
which is the graph of equation (2).

Y

e

The two lines |; and | intersectat a unique point (4,-1). Thus, x=4
and y=-1is the unigue solution of the given equations.



(vi) 3y=5-x

2X=y+3

3y=5-x (1)
2% = y+3 (2)
3y = 5—:~::>-y=5_x

Corresponding values of x and y can be tabulated as:

X 2z -~ -4

y 1 2 3

Plotting points (2, 1), (-1, 2), (-4, 3) and joining them, we geta line |,
which is the graph of equation {1).

Again, 2x = y+3 =:=){=%3

Corresponding values of x and v can be tabulated as:

X 2 1 2,

y 1 4 3

Plotting points (2, 1), (-1, 1}, (3, 3) and joining them, we get a line |;
which is the graph of equation (2).

Y 2

The two lines |; and |z intersectat a unique point (2, 1).

Thus, x=2 and y=1 is the unigue solution of the given equations.



(vii) x-2y=2

%

|

> W

x-2y=2 (1)
%
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== — 421

¥-2y=2= ¥ =242y

Corresponding values of x and y can be tabulated as:

X 2 0 4
y 0 4 1

. oox %
Again, ——v=1=v=_—-1
. = i v =2

Corresponding values of x and y can be tabulated as:

X 0 2 4

v -1 0 1

Plotting points (0,-1), (2, 0), (4, 1) and joining them, we get a line |,
which is the graph for both the equations (1) and (2).

Hence, the given system of equations has infinitely many solutions.
(vii) 2x-6y+10=0

3x-9y+25=0
2x-by+10 =0 (1)
3x-9y+25=0 (2)



6y — 10

2x-6y+10 =0=-x= =3y -5

Corresponding values of x and y can be tabulated as:

X =5 -2 1

y 0 1 2

Plotting points (-5, 0), (-2, 1), (1, 2) and joining them, we geta line |,
which is the graph of the equation (1).

9y — 25

Again, 3x-9y+25=0=x =
Carresponding values of x and y can be tabulated as:

X 0 __25:_3,33
3

t Seagy |9
E

Plotting points [D, %],[_—55, D]aﬂd joining them, we get aline |; which

is the graph of the equation (2.

.
Thelines |, and |, do not intersect each other.
Thus, the given equations donot have any solution.
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2+%=E:>2x+3y=6 (1)
¥ x



6—}(—5:&:>6><—5y:4 (2]

W i
B — 2x

2x+3y=b=y =

Corresponding values of x and y can be tabulated as:

X 3 =3 0

y 0 4 2

Plotting points (3, 0), (-3, 4), (0, 2) and joining them, we get a line |4
which is the graph of equation (1.

Bx-5y=4 =y = ox -4

Corresponding values of x and v can be tabulated as:
X 1 2 a9
y 0.4 1.6 2.8

Plotting points {1, 0.4}, (2,1.6), (3, 2.8) and joining them we get a
line l; which is the graph of equation (2).

5 ¥

Thelines|; and |; intersect at a unigue poiﬂt[g, 1).

(x) x+2y-7=0.....(1)
2x-y-4=0.......[2)
X +2y -7 =0 =x=7-2v



Corresponding values of x and y can be tabulated as:

X 7 3 1

y 0 2 3

Plotting points (7, 0), (3, 2), (1, 3) and joining them, we geta
linel; which is the graph of equation (1).

2x-y-4=0 =y=2x-4

Corresponding values of x and y can be tabulated as:

X 0 3 2

y -4 2 0

Plotting points (0,-4), (3, 2), (2, 0} and joining them, we get a
line |z which is the graph of equation (2).

Thelines |; and |; intersect at a unique point (3, 2).



Answer 8.
(i) The given equation are:
Zy—-x=8 ..(1)
Sy-x =14 ..(2)
y=2x+1 ..(3)
2y -x=8=x=2y-8

Corresponding values of x and y can be tabulated as:

®x | -4 | -2 |0

y |2 |3 |4
Plotting points (-4, 2), (-2, 3}, (0, 4) and joining them we get a line |3
which is the graph of equation {1).

Again, by —x =14 = x =5y - 14
Corresponding values of x and v can be tabulated as:

x |-4 |1 |6

y |2 |3 |4

Plotting points (-4, 2}, (1, 3), (6, 4) and joining them we geta line |5
which is the graph of equation (2).

Again,y = 2x+ 1

Corresponding values of x and y can be tabulated as:

x| 8 |3 |2

v |1 |3 |5

Plotting points (0, 1), (1, 3}, (2, 5) and joining them we geta line |5
which is the graph of equation (3).

m

44
6 4 -2 1] 2 4 B B

It can be seen thatthe lines |y, |2, and |z intersect each other form a
triangle.

The vertices of A ABC are A(-4,2)},B(1,3)and C(2,5).



(ii}) The given equation are:
Jy=x+18 ..(1)
x+ 7y =22 .({2)
v+ 3x =26 ..(3)
y=x+ 18 =2x=3y- 18

Corresponding values of x and y can be tabulated as:

X [0 [-3][-6

y |6 |5 |4

Plotting points (0, 6), (-3, 5) and (-6, 4) and joining them, we geta
line |, which is the graph of equation {1).

Again,x + /y=22 = x=22-7y

Corresponding values of x and v can be tabulated as:

x |4 [B [-B

y |3 |2 |4

Plotting points (1, 3), (8, 2), (-6, 4) and joining them, we get a line |;
which is the graph of equation (2.

Also, y+3x =26 =y=26-3x

Corresponding values of x and v can be tabulated as:

%= [F 8 ]9

v |5 |2 =1

Plotting points (7, 5), (8, 2}, (9,-1) and joining them, we get a line |3
which is the graph of equation (3).

y ! :

1}"

It can be seen thatthe lines |y, |; and|; intersect each other to from
triangle ABC

The vertices of A ABC are A{-6,4), B(6, 8) and C(8, 2).



Answer 9.
4x-5y-20=0 kL)
3x4+3y-15=0 I
dx - Sy - 20=0 = 4x = oy + 20

Corresponding values of x and y can be tabulated as:

x |0 =& |5

vy |-4 |-8 |0

Plotting points (0,-4), (-5,-8), (5, 0) and joining them, we get a line |,
which is the graph of equation (1).

Again, 3x+ 3y - 15=0=2x+y-5=0=2x+y=2>5

Corresponding values of x and v can be tabulated as:

w B |5 |2

v |5 |0 |3

Plotting points (0, 5), (5, 0), (2, 3) and joining them, we get a line |>
which is the graph of equation (2).

The lines |, and |z intersect at (5, 0). Thus, the solution of equations
(1)and (2)isx=5and y =0,

MNow, it can be seen that a ABC is formed by the two lines |; and |- and
the y-axis.

The vertices of AABC is A(0, 5), B(5,0) and C(0D,-4).



Answer 10.

x-y+1=0 kd)
4dx + 3y = 24 d2)
=y 1.=8 =y=x+1

Corresponding values of x and y can be tabulated as:

x (B |3 |-

y |1 |4 |0

Plotting points (0, 1), (1, 2), (-1, 0) and joining them, we get a line |,
which is the graph of equation (1).

24 _ 3y

dx4+3y=24 = x =

Corresponding values of x and vy can be tabulated as:

x |[& |5 |B

y |0 [4 |8

Plotting points (6, 0), (3, 4), (0, 8) and joining them, we get a line |;
which is the graph of equation (2).

The lines |; and |z intersect at (3, 4). Thus, x = 3 and v = 4 is the
unique solution of equation (1) and (2).

MNow, from the graph, it can be seen that the lines |, and |z

Intersect the x-axis at points (-1, 0} and (6, 0)



Answer 11.

Ix +2y + 6

0 ..(1)

3x+8y-12=0 ..(2)

Ix+2y =-6 = Ix=-6 - 2y
Corresponding values of x and vy can be tabulated as:

X |=& |0 -2.66

y lo |-3 |1

Plotting points (-2, 0}, (0, 3), (-2.66, 1) and joining them, we get a
line |3 which is the graph of equation (1).

3x4+8y-12=0= Fx = 12- 8y
Corresponding values of x and vy can be tabulated as:

x |4 |-4 |0

y |0 |3 |15

Plotting points {4, 0), (-4, 3), (0, 1.5} and joining them, we get a line
I> which is the graph of equation (2).

It can be seen that the two lines | and |: and the x-axis from a
triangle ABC.

E 3

The coordinates of the vertices of A ABC are A(-4, 3}, B(-2, 0} and
c(4, 0).



Answer 12A.

The given system of equations are 2x = 23— 3y and Sx = 20+ 8y,

Mow, 2% = 23— 3y k)
23— 3y
2
Corresponding values of x and v can be tabulated as follows:

x[10]7 |4
v| 1[3]5
Plotting the points (10,1), (7, 3) and (4,5) and joining them,
we get the line |, which is the graph of equation (i).

=M=

Again, Sx = 20+ 8y pamah

L, 20+8y

Corresponding values of x and v can be tabulated as follows:
x| 4|24 |08
g | R =T | =2
Plotting the points [4,0), (2.4, -1) and [0.8, - 2] and joining them,
we get the line |, which is the graph of equation (ii).
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The two lines |, and |, intersect at a point P(7.38, 2.4).
Lx=7.8v=24dIis the solution of the given systemn of equations.

Craw PM perpendicular from F to X-axis,
Mo, PV = w-coordinate of P(7.8, 2.4)
= FM= 2.4 units

QR =11.5-4=7.5Sunits

- Area of APQR = %KQR %PV = %x?.5x2.4= 9 sq, UNits

Answer 12B.

The given svstem of equations are
Bx—-3y+2=7x+landbx+l=4adx—-v+2

Mo, Bx -3y + 2= 7x+ 1 Ll

= I

Corresponding values of x and v can be tabulated as follows:
x|(1]-2| 4
i
Flotting the points [1,0), [-2,1) and [4,-1] and joining them,
we get the line |, which is the graph of equation (i),

Again, Sx+1l=dx—y+ 2 L

= B Y

Corresponding values of x and v can be tabulated as follows:
x|=1| 3 |-2
v] 2 [—2] 3
Flotting the points [-1,2], (3, - 2) and [-2,3) and joining them,
we get the line |, which is the graph of equation (i),




y Y

The two lines |, and |, intersect at a point P(1, O],
~x=1vy=0Iis the sclution of the given system of equations.

Since both the lines |} and |, are intersecting each other at X-axis,
no triangle is formed by these lines with X-axis.



Ex 8.3

Answer 1.

Let the length and breadth of a rectangle
be x units and v units respect vely,

Locording to given information, we hawe
X o= 2y
=x-2v=0 a0

Alzso, perimeter of a rectangle = 30 units
:»2[><+\,.fj= 30
= x+y=15 i

Subtracting egn. (i) from egn. (i), we get
e 15
R

Substituting the value of v in egn. (1], we get
x—A51=0

= x—-10=0
= x%x=10

Thus, the length and breadth of a rectangle are
10 units and 5 units respect vely,

Answer 2.

Let the larger number be x and the smaller number be v,
According to given information, we have

¥ Me=13

=x=3+y .0

Also, 3x+ 2y = 19

=33+ y)+ 2y = 19 o [From (0]
=9+ Sy + 2y =19

= Sy = 10

= RIS

SK=042=5

Thus, the required numbers are 5 and 2 respectively.



Answer 3.

Let the two numbers be x and v respectively,

Then, we hawve
x=3y .00

And, X +v = 68
=3v+y =68
= dy = 68
==Y

= x=3x17=51

Thus, the two numbers are 51 and 17 respectively,

Answer 4.

Let the two numbers be x and v respectively,

Then, we have
dw 4+ 3y = 15 WO 1
Sx—-2y =7 )

Multiplying egn. (i) by 2 and egn. (i) by 3, we get
Sx+ 6y =30 ...(0i)
Qe -ty =21 .. .0iv)

Adding egns. (iii) and (iv), we get
17x =51

=

= 43+ 3y =15

=124+ 3y = 15

=y =3

—iRE

Thus, the two numbers are 3 and 1 respectively,



Answer 5.

Let x be the digit at ten's place and v be the digit at unit's place,
Then, the number is 10x + .
Mumber cbtained by reversing the digits = 10y + x

According to given information, we have
K4y =7 i)

And, (10v + x)- (10x+ y) =9

=S 10v+x-10x-y =9

=0y -Ox=9
= 9y-x)=9
=yv-—x=1 .0

Adding egns. (i) and (i), we get
g

= =4

= x+4d=7

e e =B

~ Required number = 10x+ v = 10x3+ 4=30+ 4= 34

Answer 6.

Let x be the digit at ten's place and v be the digit at unit's place.
Then, the number is 10x + v,
Mumber obtained by reversing the digits = 10y + x

According to given information, we have
(10x+y)+ {10y + x) = 110

= 1lx+ 11y =110

= 11{x+y)=9

=x+y=10 .00

Also, x-y=2 ol

Adding egqns. (i) and (i), we get
2% =12

e R D)

=6+y=10

=y=4

~ Required number = 10x+ v = 10x6+ 4 =60+ 4= 64



Answer 7.

Let x be the digit at ten's place and v be the digit at unit's place.
Then, the number is 10x + v.
Mumber obtained by reversing the digits = 10y + =

According to given information, we have
(10x +4)+ 7= {10y + x) -2
= 10x+yv+7=10y + x -2

==

= 9(x-y)=-9
=x-yv=-1 .0
Also, x+y =5 i

Adding eqns. (i) and (i), we get
2% =4

i

e e

=aisd

- Required number = 10x+y = 10x2+3=20+3=23

Answer 8.

Let the fraction be 2=,
Y

According to given information, we hawve

><+2=E - ><—3=il
v+ 2 10 3 A5
= 10x+20 =9y + 18 and Bx-15=4dy-12
= 10x-9y=-2 ...(i) and Sx-4dy=3 .. .0i)

Multiplying egn. (i) by 2, we get
10x-8y =6 ....(il)

Subtracting egn. (iii) from egn. (i), we get
iy = -8

=y=8

= 10x-8(8)=6

= 10x-64=06

= 10x =70

= u=7

. Required fraction =

] R



Answer 9.

Let the two numbers be x and v,

According to given information, we have
X2

W e

= D =2y

=5Sx-2y=0 i h)

*+ 4
W= 32
= 2%+ 8 =5y - 160

= x-Sy =-168 o

And,

e
22

Multiplying egn. (i) by 5 and eqn. (i) by 2, we get
25x - 10y =0 ....{ii)
A — 10y = =336 ....(iv)

Subtracting egn. {iv) from egn. {iii), we get
1= 336

= x=16

= 516)-2y =0

= 80-2y =0

= 2y = 80

=y =40

Thus, the numbers are 16 and 40,



Answer 10.
Let the numeratar and denominator of a fraction be x and v respectively,

S Fraction = 2
Y

According to given informati on, we have

X4y =12 il ]
And, A gl

M+ 3 2
=M =y+3

=2x-y=3 ..[ii)

Adding egns. (i) and (i), we get

=15

—

=54+y=12

=y =7

. Required fraction =§

Answer 11.

Let the numerator and denominator of a fraction be x and v respectively.

. ¥
o~ Fraction=Z

According to given information, we have

® _1
v+l 2
=>Ix=y+1

=2x-y=1 .0

|

Also, =1

= u+l=vy
=x—-y==1 .. ..0i)

Subtracting egn. (i) from (i), we get

W= 2
= 2-y=-1
=S y=23

. Required fraction = %



Answer 12.

Let the present age of father = x vears and that of son = v vears
After 10 years,

father's age = (x + 10) vears

s0n's age = (v + 10) years

Aocording to given information, we have
=Ty L)

And, (x+ 10)= 3 v+ 10)

= x+ 10=3v + 30

= =0y =20

=Ty -3y =20 o [From (]
= dy = 20

AR

et P G

Thus, the present age of son is 5 years and that of father is 35 years,
Answer 13.

Let the present age of Kapil = x yvears and that of Karuna = v years
After & vears,

Kapil's age = (x + 6) years

Karuna's age = (y + 6) vears

According to given information, we hawve

.
v 3
— S = 2
= Sx-2v=0 (i)
And, Sk
v+ 7
= 7w+ 42 =5y + 30
=7x-0y=-12 ... (i)

Multiplving egn. (i) by 5 and eqgn. (i) by 2, we get
15x - 10y = 0 ki)
1w — 10y = =24 ... (iv)



Subtracting egn. (iv) from egn. (iii), we get
¥ =24

= 324)-2y = 0

=72-2y=0

=2y =72

=y = 36

Thus, the present age of Kapil is 24 vears and that of Karuna is 36 vears.

Answer 14.

Let the present age of father = x vears and that of his child = v vears
After 12 years,

father's age = (x + 12) years

child's age = (y + 12) years

According to given information, we hawve
x=3y ..

Mowy, after 12 vears
Ax+12)=3Av+ 12)+ 36
= 2X+24=3y+36+ 36
=2x-3y =48 ...
= A 3v)- v = 48

= 3y = 48

=y =16

= x=3xl1l0=42

Thus, the present age of father is 43 vears,

" Question modified



Answer 15.

Let the two angles of a triangle be x and v respectively.
Then, the 3 angle will be 1807 - (x + v).

According to given information, we hawve
X4y =180P —(x+v)

= Ax+ )= 180P

=x+y=90P .

And, x—v =20 ...

Adding egns. (i) and (i), we have

2= 110"

Sy B0

= 557 4 y = O0°

=y =33°

= 3 angle = 180° - (55° + 35°) = 180° - 90F = 9P

Hence, the three angles of a triangle are 55°, 35° and 9CF.

Answer 16.

In ABC,
LB =8 B = (2¢- 30)°, LO=y°

Mow, sum of the angles of a triangle is 180F,
=28+ 2B+ 20 = 180°

= 3@ 4 (2% - 30P+ vy = 1800

= 3xe4 2= 2100 (i)

Also, itis given that 24+ ZB = 9(P
=3¢ + (2x - 30P = 90°

= 3x%=120F

= = 40P = A

— /B = 2(40°)- 30° = 80° - 30° = 5P

Substituting the value of @ in egn. (i), we get
— 40P+ v = 2100

= 120P 4+ o = 210P

= ° = 9P = £C

Thus, the three angles of a triangle are as follows:
L8 =400, 2B = 50° and £C = 90F
It is aright-angled triangle right angle at C.



Answer 17.

Let x be the digit at ten's place and v be the digit at units place.
Then, the number is 10x + W,
Mumber cbtained by reversing the digits = 10v + x

According to given information, we have
¥ T s

And, 10v+x=2{x+v)+2
=10y 4+ 1 =2x+ 29 + 2

=8y ~-x=2

=8y —(3y+3)=2 o [From (]

R T

T

=y=1

= x=31)+3=3+3=6

. Required number = 10x+ v =10x6+1=860+1=61

Answer 18.

Let Anil's income = Rs x and Sunita's income = Rs, v

Aocording to given information, we have
®x 3

v 5

= 5x = 3v

=L e (Y Gl

And X~ 5000 _ 1
"y o500 B
= 3y —15000 = ¥ =5000

= 3x -y = 10000 ...

....[Expense = [ncome - Savings |

Multiplying egn. (i) by 3, we get
Ox - 3y = 30000 ....(ii)



Subtracting egn. (i) from egn. (iii ), we get
dx = 30000

=% = 7500

= 57500)- 3y =0

= 37500-3y =0

= 3y = 37500

=y = 12500

Hence, Anil's income is Rs, 7500 and Sunita's income is Rs, 12,500,

Answer 19.
Let the number of passed students be x and

the number of failed students be v,

According to the question,

L
v 1
= x=0v .00

Mo, if 30 less appeared and 10 less failed, then we have
Mumber of students appeared = x + v — 30
number of failed students = v - 10
~humber of passed students = x - 20
i ¥ = 20 _ E

y-10 4
= 4x-80= 13y - 130
= - 13y = -50
=4 3y)- 13y =-50 ... [Fromi}]
=12y - 13y = -50
=i ol
= =il
= xXx=3x50=150
= x +y = 150 + 50 = 200

Hence, 200 students appeared for the examination,



Answer 20.

Cost of an eraser = R x
Cost of a sharpener = Rs. v

According to given information, we have
x=y=1.50

= x-y=-1250 ki)

And, de+ 3y =29 .00

Multiplying egn. (i) by 3, we get
3x -3y =-450 . fiii)

Adding egns. (i) and (iii ), we get
Fx=2450

= x =350

— 3,50-y = -1.50

shradealal S0

Thus, the cost of an eraser iz Rs. 3.50 and that of a sharpener is Rs. 5.

Answer 21.

Let the speed of the person in stll water be x km/hr
and the speed of the stream be v km/hr.

Speed of the person downstream = (x + v km /hr
Speed of the person upstream = (x - v lkm /hr

Time required to go 8 km downstream = 40 minutes = % hours = £ hiours

= 8 _Z2
e+ 3
4 1
><+y=§
= 1d=x+y

e Y N

Time required to go 8 km upstream = 1 hour
g
X =y
e HE SRR ST,
=x-y=8 ...[i

=

<



Adding egns. (i) and (i), we get
2% = 20

= x =10

Sl =8

S A D

Thus, the speed of the person in stll water is 10 km/hr
and the speed of the stream is 2 km/hr.

Answer 22.

Let the speed of the boat in stll water be x km/hr
and the speed of the stream be v km/hr,

Speed of the boat upstream = (x - v llkm /hr
Speed of the boat downstream = (x + v ikm /hr

Tirme required to go 18 km upstream = 3 hours

= e =i

K=y
= 5 =1

K
=x-v=6 .0

Tirme required to go 24 km downstream = 2 hours

= = =
LY,

=% = ]
Wty

=x+yv=12 .. (i)

Adding eqns. (i) and (i), we get
2% =18

=

=9-y =65

= ¥ =23

Thus, the speed of the boat in still water is 9 km/hr
and the speed of the stream is 3 km/hr.



Answer 23.

Let the speed of Salman = x km /hr
and the speed of Kirti = v km /hr
Total distance = 28 km

When they wall in the same direction,
28x - 28y = 28
=x-yv=1 ..0)

When they walk in the cpposite direction,
dw+ 4y = 28
=x+yv=7 .00

Adding egns. (i) and (i), we get
du =8

= x=4

=d+y=7

=y =3

Thus, the speed of Salman is 4 km/hr and that of Kirti is 3 km/hr,
Answer 24.

Let x gallons of 12% alcohol and v gallons of 4% alochol
be mixed.

Then, we have
X4y =20 ()

And, 12% of =+ 4% of v = 9% of 20
1z 4 2

X+ Vo=
100" T 1007 100
= 12% + 4y = 180

=3x+y =45 . .0

x 20

subtracting eqn. (i) from egn. (ii), we get
e 5

= G R

=125+ vy =20

M=o

Hence, 12.5 gallons of 12% alcohol
and 7.5 gallons of 4% aloohol should be used,



Answer 25.

Let the unit price for each pen =Rs x
and the unit price for each pendl = Rs. vy

According to given information, we have
Ox+ Sy =32 000
T+ 8y =29 ...

Multiplving egn. (i) by 8 and egn. (ii) by 5, we get
72x + 40y = 256 ...
35w+ 40y = 145 ... (iv)

Subtracting egn. {iv) from egn. (iii), we get
i =111

= =273

= 9(3)+ 5y = 32

= 27 4+ 5y = 32

=Sy =5

=y =1

Thus, the unit price for each pen is Rs. 3 and that for eadh pendil is Rs, 1.

Answer 26.

Let Sunil has x number of oranges
and Kafeel has v number of cranges.

In 1% case (if Sunil gives 2 cranges to Kafeel ):
Ax-2N=y+ 2

=0 -GB=y+ 2

=3x-yv=28 .0

In 2" case (if Kafeel gives 2 cranges to Sunil):
K4 Ld=y-2
= x-y=-24 ..

Subtracting egn. (ii) from egn. (i), we get

2 =12
= x=56
e e
=y =10

Thus, Sunil has & oranges and Kafeel has 10 oranges,



Answer 27.

Pocket money of Samidha = Rs, x
Pocket money of Shreyva=Rs v

According to given information, we have
w =500 =y b
= ¥ =000

And, y—5DD=%x

= Sy - 2500 = 3x

= 5x - 500) - 2500 = 3x
= 5x - 2500 - 2500 = 3x
= 2% = 5000

= x = 2500

= y = 2500 - 500 = 2000

Thus, pocket money of Samidha is Rs, 2500 and that of Shreya is Rs, 2000,

Answer 28.

Let the C.P. of S1 mobile = Rs, x
and the C.P. of S2 mobile = Rs v

In 1% case;

SP. of 51 mohile = Bs, w + 4% of RS.X=RS.[X+iXJ= Rs. ﬁx =Re @

100 100 25

SP. of S2 mobile =Rs v+ 6% of Rs. vy =Rs |y + £y = Rs, @y = Rs. L
100 100 50

o 26x b3y
T + =5 = 10490

= 52x + 53y = 524500 ...(i)

In 2" caze
: & 106 535
=, o = : _— = , —— = , ——
SP. of 51 mcohile =PRs x+ 6% of Bs. x =FRs (x+ iDDX] Fs 1E]DX Rs =5
Sk of S2 mobile = Rs. v+ 4% of Rs.v = Rs, y+iy =RS.E = S.@
100 100 =5

L W
S0 25

= 53x + 52y = 525500  ....(ii)



Adding eqns. (i) and (i), we get
105x + 105y = 1050000
= x4y =10000 ...(iii)

Subtracting egn. (i) from egn. (ii), we get
w=—y=1000 .. .(iv)

Adding egns. (i) and (iv), we get
2w = 11000 = x = 5500
= 5500 -y = 1000 = v = 4500

Thus, the cost price of S1 mobile is Rs. 5500 and that of 52 mobile is Rs. 4500,

Answer 29.

Let & alone will do the work in x days

and B alone will do the same work in y days.

Then, A's 1 day work = é and B's 1 day work = %

According to given information, we have

2o L
Xy o2
63

ke BB ;
:>§+_=E ...(l)

1 1 1
.&.ﬂd,§=lax§
)

Wy

1 5 5
= rvia S (TY
Subtracting eqgn. (i) from egn. (i), we get
1,2 3
yoo dy o 20

Do

dy 20
sy DR

5

=y =15

1 = 1 1
Do 2 geppesle sty
X A15) G E

Thus, A alone will do the work in 12 days and
B alone will do the same work in 15 davs,
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